INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

Helen has 10 skirts in her wardrobe. Margaret has 4 skirts in her
~ wardrobe. How many fewer skirts does Margaret have than Helen?

fewer skirts

N
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E Connorand Carson are playing soccer. Connor scores 18 points. Carson

. scores 2 points. How many fewer points did Carson score than Connor? ;Ei\
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fewer points
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Robin has 15 lamps at his office and § lamps at his home. How many
fewer lamps does Robin have at his home than at his office? .I

fewer lamps
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Gianna has 6 knives in her kitchen. Camila has 2 knives in her kitchen.
How many fewer knives does Camila have than Gianna? \

fewer knives
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